Apr.1.2024 Copyright 2024 HIROSE ELECTRIC CO., LTD. All Rights Reserved.
In case of consideration for using Automotive equipment / device which demand high reliability, kindly contact our sales window correspondents.

1 2 3 4 5 6 7 8
J
i %S\ [2>M3X0.5 (Through-hole )
i |
[] o i
I I
C D)
[ -
Q)\ [1> Mating key type
hh 1 i + 0. / At
O 2 £0.5 13.4£0.5 AN 05
46 £ 0.2 &‘r& 15.2 £ 0.5 / 1.4 ref.
- Synbol indicating L ) Sheet ruc.kldn.g t)t[n.ckness e
. ol indicatin
the arrangenent housing /e} = ~ N s rongenent ﬁousing @} o X7
[ % Sm e N o O
4 A
| _ | J
[ % B ﬂ
&l FZ - i
A E =+ / =
= J5 | v € A
5 N\ : :
(=}
[ £ I}
= i ]
& Y - Z &A | ( é /
=Y =T
— =Y i G==TW,
Moting key @/ e housing insertion key )/ NDr— — @
L L | L —
CAV No.
[ -
C )
L i
I— \j J 5 | [Z>NBR Black
| | staoinless steel | Nickel plating 4 |[7>NBR Black
t | 1 [Aluminium alloy 3 |Steel Nickel plating
] 1 NO. MATERIAL FINISH . REMARKS NO. MATERIAL FINISH . REMARKS
UNITS SCALE COUNT DESCRIPTION OF REVISIONS DESIGNED CHECKED DATE
— < mm @6 1:1 A 1 | DIS-E-00002684 TY. MIURA TU. TANIGUCHI 20200123
APPROVED :RI. TAKAYASU 20180925 |DRAWING _ _ -
M3X0.5 CThrough-hole) ms HIROSE = fouecken +AH. KODAMA 20180925 5 1nt EDCP(JSZOQV\?AO_/lZUO_OFLOAO
EBEC[%C DESIGNED :TY. MIURA 20180925 [_NO.
DRAWN < TY. MIURA 20180925 |- CL236-2116-0-00 AV
FORM HC0011-5-7 1 2 3 4 5 \ 6 7 \ 8




Apr.1.2024 Copyright 2024 HIROSE ELECTRIC CO., LTD. All Rights Reserved.
In case of consideration for using Automotive equipment / device which demand high reliability, kindly contact our sales window correspondents.

VR13.2 ~ \/Ri6.3 46 £ 0.1 A-MA (Through-Hole)

> Recommended panel cut out Panel attochment

Mox. surface roughness

3.hE 01

4-RE Mox

4
s

&@ =

<
Y

80.5 £ 0.1

,(,\\87.8i0,1

[

f \Ne=a).
\( N\
L

Note [1> Mating key type is ™ 1", >

[2> Use recommended screwCcommercial item) to attach the crimp terminal to this product.
Crecommended screw JIS B 1188 cross recessed pan head machine screw with captive washer M3X0.5X4
Crecommended tightening torque : 0.32~0.63 N-m)
3. Refer to ETAD-E3149 for the comformity connectors with this product.
[4> Refer to the recommended panel dimensions, to attach the product to panels.
This product ollows ottachment in either directions of up and down.
Therefore moke sure the correct direction prior to the attachment.
[5> Use M4 screwCcommercial item) to attoch the product to panels. Creconmended tightening torque = 1.5N - m min. )
Take watertightning treatment to the screw attachment surface.
6. This is o die costing product, molten metol flow patterns and small roughness may appear on the surface.
However there is no problem in the product functions.

[7> The ozone effect moy couse the deterioration of seal components (Reference No.4, Reference No.5) DRAW NG FDC-129601-00-00
because the rubber is composed of NBR. Please keep the environment in mind when using this connector. ms SART o
8. Sales unit: 20 pes/box, to. POQ50WA-2U-FLA
o CL236-2116-0-00

FORM HC0011-5-8 |

! 2 ! 3 4 5 3 ! 7 ! 8




